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File Edit WVisw Run Model Output Propagetion Temain Resubs Tools Window Help

[P e wh EEEEEEDf AR« [THn -6
NEwWalEthdDw ‘@_ mk‘h‘a 9

© ¢ § e B ) e
B AL1-3 b.SIM:3 B Al 1-3 b.SIM: 2 [C)E)X] mEAl1-3 b.SiMA 3
Add Watches., Copy

Addwatches.

Variable Unts Value | trits |
Station 18.6 GHe
Interfering Berdwidth ; Bandwidth 10 [
Interfering Porer Carrier Carrier
Interfering Peak Gain Frequency Source User specified
Interfering Relative Gain 12 d8 Transmit Power 0. dBw

PathLoss 209.4 d& Transmit Peak Gain 40.0 dbi
Wit Peak Gain 495 d Transmit Relative Gain 51 &
Wit Relative Gain 4.0 ds Path Loss 2084 &*
ietim Feeder Loss 00 ds Receive Pesk Gain 96 &
Signal Strength Receive Relative Gain oo B
1 Receive Feeder Loss oo 4B
m € (signal strength) -113.0 Bl
it 42,1 d8 N 1438 B
Ci(MaTy 305 a8 <m 30.8 B

Advantages

Marains

PR A3 b.SIM:1

C/Tvs satellite longitude

40+
o ol
<
=
O 204
104
a t t t t t + t + t {
60 61 62 63 64 65 66 67 68 69 0

Satellite Longitude ( deg )
/ Current GSO Satellite Longitude vs.
SingleLinkCalc.CJl

Finished Percentage = 100,00 %
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File Edit Wiew Run Model Output Propagation Terrain Resuks Tools Window Help
|V dd @b ADEAOR G| [@QRQQ |G m b > » 0
() e g/ At [P o 2 Al e B@DER

Al1-3c.SIM:Z
Add Watches..,
varizble Vale Uits |

Frequency 126 e
Bandwidth 10 Hz
Carrier Carrier
Frequency Source User specified
Transmit Power 10.0 dBw
Transmit Peak Gain 0.0 dai
Transmit Relative Gain 58 8

# Path Loss 2004 s
Receive Peak Gain 0.6 dsi
Receive Relative Gain 0o ds
Receive Feeder Loss 0o ds
C tsignal strencth) -Lis.7 B
N -143.8 dBw
cm 8.1 8

AL1-3c.SIM:1 |- [2]x]

Add Watches,

Varisble Value Units

Frequency
Bandwicth 1.0
Carier Cartier
Frequency Source ser specisd
Transit Power
Transwit Pezk Gain 498
Transnit Relative Gain 5.6

¥ Path Loss 166.2
Receive Peak Gain 9.6
Receive Relative Gain 5.6
Receive Feeder Loss 0o
 (signal strength) -176.2
[ 1438
[=1}) -32.4
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@ visuaiyse - A11
Fle Edt View Run Model Output Propagation Terrain Resuks Tooks Window Help
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